Mathematics B 13- Paper Code No. 7193

Paper : II (Objective) 1% A.Exam. 2024 | GroupI | ( oogm) I ey
Time : 20 Minutes SSC (Part - II) < 20 oSy
Mavks : 15 Session (2020-22) To (2022-24) 15 I
& Lupr—oy
Jgfvgfjb(u'bJL"":..Ufu;beCé,:é‘_lzﬁdlyJI/,déJf‘ /Qﬁ}lzu:'y"u.‘?(w»fffvlﬁjlwé&..)D «CBA .*.«Ll:?zlgﬁdly’/: oD

e wglﬁw( SR IINIS /;/ J.«KL&./ /;f Usbmle Ll s A S

mark in that question.

Note : Four choices A, B, C, D to each question are given. Which choice is correct, fill that circle in front of that question number on
the Objective Bubble Sheet. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero

@w 1 ® 2 © 3 O 4 |

Tangents drawn at the end points of the diameter of a circle are : LAV L /C p Le i 1A

(A) Perpendicular s+f (B) Intersecting &F (C) Non-Parallel (it # (D) Parallel ()15 0,
~ : c‘_t'n-...--,:dljd}( r¥er Il s (2)

The Semi Circumference and the Diameter of a circle both Subtends a central angleof

a)  90° ®)  180° © 27° @) 360°

A tangent line intersects the circleat @ : c‘-_l}b’__-..f gLl (3

(A) Single point 4451 (B) Twopoints b1

(C) Three points bt (D) Nopointatall (S /,Jﬁ’gf(

Radiiofacircleare S, Uy Yy SPay 11y WA ()

(A) Al equal /.lzrb‘“ (B) All unequal i ;f rlf"

(C) Double of the diameter U&»c‘./':" (D) Half of any chord &;7;_7:& (f(

Sec?0=__ : :  =Sec? 0] B

(A) 1-5in*0 @) 1+tan*@  (C) 1+cos®’0 (D) 1-tan® @

The most frequent occurring observation in a data setis called :  : ;.JU-{ Wl T 2 pulic ot :Lv'(f( (6)

(A) Arithmetic Mean h-sil> (B) Median s

(C) Harmonic Mean besi T4 (D) Mode b

Point (-5 ,~7) lies in the Quadrant : ekt (<5,-1D 8| (D

@ 1 ® 1@ © m @ 1

The different number of ways to describe a set are : : 4.(3;::'»7 J LY ST Wk forl ®

@ 1 B) 2 © 3 (D 4

(x+3)2=x%+6x+9is : P ek (x+3)2=x2+6x+9] (D)

(A) Linear Equation ehbsfisf (B) 1dentity el

(C) mEquation  wsls (D) Reciprocal Equation s/ &

The Mean Proportional of 4 m? n® and p®is : PO Gbs¥ p® s 4m2n®| (10)

(A) + 2m%n4p® (B) + 2mn®p® (C) + 2m®n?p® (D) + 4m®n*p®

If y? & =3 then :  Jny? o = fi] 4D

Wy=3 ®y¥=3 ©y=x2 Oy¥=kd

The Discriminant of x? + 8x + 16 = 01s : e3P +8x+16=0] (12)

@ 1 ® 8 (© 16 M o

Sum of the Cube roots of unity s : t e o6 A L) (13)

@ o ® 1 © -1 O 3

The number of methods to solve a Quadratic Equation is : 9,01 S TS S FetobeBs | (14
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Note : it is compulsory to attempt (6 - 6) parts each from Q.No.2 , Q.No.3 and Q.No.4. Attempt any (03) questions from Part Il.
While Q.No.9 is compulsory. Write same Question No. and its Part No. as given in the Question Paper.

36 = 2x18 | Make diagram where necessary. L Prisn oz (Part—D _fi! ac>
Define Radical Equation. SISy el (i) 2 Ay
Solve by Quadratic Formula. 2+9x=5x% =y SS9 6B .20k (ii)
Solve the Equation by Factorization. 2%+ 5=11x BV A (1))
e d SR I ;:;- b PP LS L1l K2+ (BK-T)x+ 5K =0abls  (IV)
Find the value of K, if sum of the roots of equation x> + (3K ~ ) x + 5 K = 0is -; times the product of the roots.
Prove that the sum of all the Cube Roots of Unity is zero. et o o KJUJg L Zel (V)
Write the Quadratic Equation whose roots are 2, - 6. ..u.‘."’J el RV 2,-6 (vi)
Define Fourth Proportional. Gl Sty (vii)
Find Mean Proportional between 20 x°y ®,5x y. .-ér)"ql:;'ldb;wﬁﬁ 20x%y®,5x" y (viii)
IfVOC:lgandV=5,whenr=3,ﬁndconstantK. -grﬁ’&gJK?M r=3 o2 V=35 VOC;%?;-/’; (ix)
Define Proper Fraction. -Ef_’:...y Y g Sl (i) 37U
If :;‘:i = ;% + ;% then find A and B. U B AN 2';_3 = ;% + ;% A (i)
Convert Improper Fraction into Proper Fraction: -G-‘fx—;_sf-f; S b LS g (i)
Define a Function. L JESE (iv)
Find @ and bif : (2a+5,3)=(7,b-4) : Sigkek baia (v)
If X={a,b,c}andY = {d, e } then find Yx X. e YxXn Y={d,e} s X={ab,c}. S (vi)
What is meant by Dispersion? Sl e kB (vil)
Find Arithmetic Mean by Direct Method for the data. 12, 14,17,20,24,29, 35,45 -ér;"’b;lg}va.;ig J bty (viii)
S kS ke S L 2,4,8 20, (iX)
Find Geometric Mean for the observations 2, 4 ,A8 using basic formula.
Write the 30° into Radian. i 30° (1) ALy
Find‘r’,while : €=52cm,0 =45° : ﬁéf_:r}’" ‘v (if)
Verify the Identities : f_ince_o_-:ceq_s_g = l+tan 6 el (iii)
Define Quadrantal Angle. S Suds (iv)
Define Acute Angle. Sk (V)
Define Tangent. s Juw (vi)
Define Chord of a Circle. ey SosLlezn (vii)
Define Radius. gy ASuns (viii)
b b3S LT P (iX)
JThe length of each side of a Regular Octagon is 3cm. Measure its Perimeter.
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(4) Solve : 5x112 = 7x'2 -2 : E{J’
4) c2=2%2(1+m?) flﬁu;u.l/.ujuﬁ X2+ (mx+c)? = a® bl SZ el

Showsthat the Equation x2 + (mx + ¢ )® = a? has equal roots if ? = 2% (1+m?).

2 (a2 o
(4) -éd’[ kil e Je) “’-:- al;b‘c.dwfl&o,ﬂjg};‘;:?;’/}}‘

(x+3)2 +(x-52

x+3)%2-(x-52 4

Using Componendo-dividendo Theorem, solve the Equation. T2 152 3

(4) Resolve zz:i into Partial Fractions. _’Zgg}:b, Sus S end zz:i
) 1 A
A={1,3,5,7,9}
B={1,4,7,10}
c={1,5,8,10}
Then verify : : 2}:.:4??
(ANB)NC=AN(BNC)
(4) | it (e ¥ $itigy

The Salaries of Five Teachers in Rupees are as follows *

11500, 12400, 15000, 14500, 14800

Find Standard Deviation. -’c{(ﬂ"dlf WA
“) e, 0 SSE3EF B sin@<0 Tan9=:;- A

If Tan 0 = g and sin @ < 0 find the values of other Trigonometric functions at 6 .
(4) __.|CA|=3cm «|BC|=3cm «|AB|= 5cm Qw11 ez tioiy ¥ AABC
Inscribe a circle in a Triangle ABC with sides | AB | = 5¢cm, | BC | =3cm, | CA | = 3cm
(8) e bk 47 BB S (x;/’;)?))':o’( S ple St
Prove that a straight line, drawn from the centre of a circle to bisect a chord (which is not a

diameter) is perpendicular to the chord.
OR L

(8) Ly RO St L 2 S G2

Prove that any two angles in the same segment of a circle are equal.
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Note : Four,choices A, B, C, D to each question are given, Which choice is correct, fill that circle in front of that question number on the
Objective Bubble Sheet. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question.

A 3 ® o © 15 @ 5

The measure of the external angle of a Regular Octagon is : ‘a(}ml,&i“f 4._.:1]‘3; /;Z.d“’ p”" Y 141
w T ® 7 © I o D

gt ST K 930 30° 3T T L i SIS Lkl @)
Out of two congruent arcs of a circle, if one arc makes a central angle of 300, then the otker arc will subtend
the central angle of : A) 90° ®) 60° © 30° D 45°
Acirclehasonlyone __ : PR S N 7 NS (I € ))
(A) Chord s (B) Radius (/1 (C) Diameter & (D) Centre
Radii of acircle are : boUunL e gLl @
(A) Allunequal 146¢V? (B) Allequal 41V
(C) Equal to diameter A2l B (D) Greater than diameter < %e #
Sec?6=__ : i =Sec? 0 (5
(A) 1-sin?0 (B) 1+tan”0 (C) 1+cos?0 (D) 1-tan>@ |
The spread or scatterness of observations in a data set is called ¢ : q—t‘lk’/fﬂ.‘f Fla sl Lf( (6)
(A) Dispersion %% (B) Mean L (C) Mode wb (D) Median tbs
The number of elements in power setof {1,2,3 }is : c:.JmlﬂJuKAL;b{AgcC {1,2,3}| D
a) 8 ® 7 © .3 @ 9
If ACB,thenA-B=..... : : A-B=.....JACB/I| ®
A A ®B 0 @ {0} 6»)) B

P geend Lo fxd(sx+4)2 =252 + d0x + 1621 | (9

The identity ( 5x +4)2=25x% + 40x + 16 istrue forthe ____ ofx :
(A) Onevalue =f i (B) Two Values ui‘g 2 (C) Some Values uffj Z (D) All Values U v
If a:b=x'y thenalternando property is : 2 4‘:,@?;}14! Inaib=x: y/l 1o
@ arb=crda ® =7 © =2 O ;=1
In Proportion7:4 :: P:8,P=..... : : PSaiacs T4 P8 (A1)
@ 8 ® s (© 28 D@ 14
Two square roots of unity are : Y. %, /!/Jp;ﬁéﬂ 12)
@ -1,1 ® 1,% © 1,-w ® 1,w,w?
Roots of ax* + bx + ¢ = 0 will be equal if : : Nilunda sl axP+bx+c=0] (13)
(A bv*>4ac B bvP<d4ac (@ bvP=-4ac (D) b2 =4ac
bx + ¢ =0 is an equation : P gezblaki bx+c=0] (149
(A) Quadratic Equation wsls(5.119 (B) Exponential Equation wbls(flfes
(C) Linear Equation hbs(Bst (D) Radical Equation  whslaifsde
Sum of all possible values of x in 5x% = 15x is : : ?»ﬁwr“fd?d’x vt 5x¥=15x) (15)

Y S Y S




Session (2020-22) To (2022-24) | Group II .y, | 14- {2660 : g 9
i ‘Mathematics (subjective) 1% A, Exam. 2024 (4uilisD 2L
) 60 : il oo 5 SSC (Part - II) ief 2110 by

-2~y

S Selird e ety o eSS F ez Lz (68— 8Ly st 4 B« 2 )iy Pl goblond

-4‘-@»/;“1;,“,&@/@»/;2/,: A 448017 - gy 9

Ve

i3 42

Note : itis compulsory to attempt (6 -- 6) parts each from Q.No.2, Q.No.3 and Q.No.4. Attempt any (03) questions from Part Il.

While Q.No.9 is compulsory. Write same Question No. and its Part No. as given in the Question Paper.

36 = 2x18 | Make diagram where necessary. -ufl'/.(f'{ gﬁ UG l (Part—-D J3! 4>

Solve by Factorization. 3y2= y(y-5) JSSEE s (i) 24U
Define Radical Equation. S Pt (i)
& et S Pl dnl =T P (x-3) 2i(x+7) i (i)
If the product of (X+7) and (x-3) is ‘-7’ then convert the sentence into quadratic equation.
Find the Discriminant of : 6x2— 8x+3=0 bt 3p (V)
Prove that the sum of all the cube roots of unity is zero. ¢t /,,;”7‘ KJU@ L. Zet (V)
If V& rls and V=5, whenr =3, find constant K. e dd Kin 123 02 V=54 VX ;1; S (vi)
Find the Ratio of 200 gram to 700 gram. eSS 100 1S 200 (Vi)
Find Fourth Proportional to : ax? 23, 18x° ¢ g By (viil)
Define Direct Variation. ' e F (iX)
Define Improper Fraction. sy S g (i) 3
If 5_3—;:7272—) = x—’_‘—; + ;—% then find A and B. 250 B A 7”35?3%—:;2?23 = x’f i ;g—z (ii)
1fA=(1,2,3}, B={2,5 }thenfindAxB. -2 #AxBix A={1,2,3},B={2,5}/ (iii)
Define * Onto’ Function. S FE ST (iv)
LSS udEL MXM 3 5adfual M (V)
If set M has 5 elements then find the number of Binary Relations in MXM.
gl s R In R={(1,2),(2,3),(1,3),(3,4)}/ (vi)
IfR:{(l,Z),(z,3),(1,3),(3,4]}menﬂndnomainandkangeof‘R’.
Define Median. S (vid)
Find Mode of the Data. 2,6,10,8,9,7,5,12,8,6,8,2,2 L uk € (Vi)
Find Arithmetic Mean. 200, 225,350,375, 270,320,290 g er bl (i)
Define Coterminal Angles. g e () ALy
Convert ~ 1502 into Radians. Py /-150° (i)
Find 6, when : £=45m,r=2.5m s w2 dife (i)
Simplify : sin®x. cot?x s 22 (iv)
What is meant by Arc of a Circle? Sl e Tfort (V)
Define Tangent of a Circle. o luw Ll (vi)
Define In-Centre. S (vii)
Define Escribed Circle. 2y Sl mdle (viii)
-zfp""}wb’w-%(:; duu@‘z_’.u‘:‘("’.{t (ix)
The length of each side of a Regular Octagon is 3cm. Measure its Perimeter. 7 -
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4)

4)

4)

(4)
(4)

4

4)

4)

(8)

(8)

éf‘)":.,dbﬂéuwb Gors 9 fu‘)t/“{d) () 5/0”’
Solve the given equation using Quadratic Formula :
3x% + 8x+2=0
Zeredfal B Jun Sl AxE -5x+6=0 b B.afi (@)
If o, 3 are the roots of equation 4x? - 5x + 6 = 0 then find the value of 0(2 Bz
Findthevalueof ‘x’ : 8-x:11-x::16-x:25-x : ép"’c.«é'd"x’ (W) 64Uy

Resolve into Partial Fractions. ———-———-———(xz fi; (Z 3 -éd:? u.f// Uz (@)

if A () 7AUr
1,2,3,...,20}

1.3.7, 9 15 18,20}

1,3,5,...,17}

Then show that : s gt i

*-<a<t:
i
[t W B

?
y-X=ynNx
gt O A0t Ao S S 2L U by ()
The Marks of Six Students in General Science are as follow. Determine Standard Deviation :
Student
pledlo
Marks

1 2 3 4 5 6

60 |70 | 30 | 90 | 80 | 42
bt 0SS0 Giin sin0<0 it cot@=7 Ji (&) BAUr

If cot O = % and sin@ < 0, find the values of other Trigonometric functions at 6 .
v Tl £ al Faymlusitnl Sy (9)
Draw two Common Tangents to two touching circles of Radius 4 cm and 5 cm.
..q_t'mf 473 R~ TP .J;"“J (n,:);if);)o’( s LS ’cf:,&:? 9/ Jir
Prove that a Straight line, drawn from the centre of a circle to bisect a chord (which is not a

diameter) is perpendicular to the chord.
OR L
Ll c URC I Soa Iy S Gk 2 sl SEE 2t

Prove that any two angles in the same segment of a circle are equal.
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